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Notes
(a)

B1: For deducing that 4 = 5. This may be seen as part of their final answer or as e.g.
10 10 10

= - =10x—(1—...
Ja-3x 241-.. o J4-3x 2( )

MI1: Uses a correct binomial expansion of their (1+...x)"

A1l: Correct unsimplified expansion
Al: All correct
Note direct expansion gives:

10(4—3x)'% zlo[f; +(—%)(4%](—3x)+(—%%—%)(4_; ](—3.\’)2 ++(—‘%X‘2X‘%J[4‘§ J(—3x)3)

Score B1 for “5”, M1 for correct structure of the expansion, A1l for correct unsimplified terms
and Al as above

(b)

B1: Deduces the correct value
(c)
M1: Fully correct strategy: Substitutes x = 1 mto their expansion and divides into 10 or
3
T 3
multiplies by —
10

A1l: Deduces either value (oe)




